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Section I COLLEGE ENGLISH TESTS
(SIX BAND)

Test 1

Part I Listening Comprehension (20 minutes)

Section A

Directions: In this section you will hear 10 short conversa-

tions. At the end of each conversation, a question will be

asked about what was said. The conversation and the ques-

tion will be spoken only once. After each question there will

be a pause. During the pause, you must read the four sug-

gested answers marked A,B,C and D, and decide which is

the best answer. Then mark the corresponding letter on the

Answer Sheet with a single line through the centre.

Example: You will hear:

M: Is it possible for you to work late, Miss Grey?

W. Work late? I suppose so, if you really think it’s neces-
sary. '

Q: Where do you think this conversation most probably
takes place?



You will read: A. At the office.
B. In the waiting room.
C. At the airport.
. D. In a restaurant.

From the conversation we know that the two were talk-
ing about some work they have to finish in the evening.
This is most likely to have taken place at the office. There-
fore,“A. At the office. ” is the best answer. You should
choose answer A on the Answer Sheet and mark it with a
single line through the centre.

1. A. The woman always talks to other men.
B. The woman wouldn’t find the restaurant.
. The woman started a conversation with a stranger.
. The woman finished talking to the men.
The woman wants to see London, Rome, and Athens
only.

O
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The woman prefers to see only one city.
The woman wants to see everything in Europe.
The woman prefers to see every city.

Fad
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. The romance was coming along.
He hadn’t asked the rock singer.
He hadn’t heard about it.

. The story wasn’t true.

o

. He turned off the tape recorder.
He listened to it.
. It was difficult to hear.
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It was good to hear.

. He thinks it is better not to tell her the truth.

It is sertous.
He really doesn’t know if it is serious or not.
He doesn’t want to tell the woman about her illness.

. When they have been good friends for two years.

When Bill asked Nancy to marry him.
When Nacy disagreed with the marriage.
When they are going to cancel something.

. He winked or smiled to show that he was interested in

her.

He passed Margaret in the corridor.
He saw that she was interested in him.
He talked with her in the street.

The man was very handsome.

The man loved her very much.

She fell in love with the man.

. She was crushed by what happened at the party.
. It was quite peaceful.

They were busy all the time with the Italian men.

It wasn’t very good. ‘

They were fined from time to time by the Italian
men,

10. A. She has tiny fingers.

B. She falls in love with a lot of guys.

C. She is a careful woman.



D.

She is manipulative.

Section B

Directions ; In this section, you will hear 3 short passages.

At the end of each passage, you will hear some questions.

Both the passage and the questions will be spoken only

once. After you hear a question, you must choose the best

answer {rom the four choices marked A,B,C and D. Then

mark the corresponding letter on the Answer Sheet with a

single line through the center.

Passage 1

11.

12.

13.

B.
C.
D.

>0 0WR O

. 34 hundred. B. 34 thousand.

34 million. D. 34 billion.

. They can eat them in the restaurant.

They can take them out and eat them at home.
They can carry them to their tables themselves.

. All of the above.

. Because the service is fast and the food is inexpen-

sive,

Because the food is what people like most.
Because the quality is more improtant.
Because people are familiar with them.

Passage 1

14. A.
B.

4

In the residential areas.
In downtown.



15.
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D.
16. A.
C.

Around downtown.

Not mentioned.

. Because cities are growing larger and larger.

Because people don’t want to go shopping in down-
town.

Because it is inconvenient for people to drive down-
town.

Both A and C.

Gardening equipment. B. Food and drink.
Household utensils. D. Office equipment.

Passage 0

17. A.

18.

19.

20.

OEPUOPPUOWPTOW

An English colony.
An English explorer.

An English businessman
An English fisherman.

. He was going to start a colony.

He wanted to catch fish.
He decided to name places on the island.

. He expected to sell supplies to the fishing boat.
. In factories.

In small coastal villages.
In colonies.

In rich fishing areas.

. They still fish.

They build ships on the island.
They work in the paper factories.



D. They sell paper to the people on the island.

Part 1 Reading Comprehension

Directions: There are 4 reading passages in this part. Each
passage is followed by some questions or unfinished state-
ments. For each of them there are four choices marked A,
B,C and D. You should decide on the best choice and mark
the corresponding letter on the Answer Sheet with a single
line through the center.

Passage One

A field test is a method of direct observation by which
you can check the accuracy of your instructions. To perform
a field test, ask someone who is unfamiliar with the process
you are explaining to follow your instructions while you
watch. If you have written the instructions correctly, the
reader should be able to perform the entire activity without
asking any questions. When you field-test instructtions,
keep a record of all the places where the reader hesitates or
asks you a question.

One group of instructors recently had to write a set of
instructions on how to use a computer card catalog in a li-
brary. They planned the appropriate sequence, subdivided

6



the process into steps, and designed uncrowded pages so
that users could overcome their anxiety about using the
‘computer catalog. When they finished the instructions, they
field-tested the results. The test revealed a major fault in
the instructions almost immediately. The first person to use
the instructions spelled an author’s name wrong. The in-
structions gave no information on how to undo a spelling
mistake. Once they were aware of this, the writers correct-
ed the problem. This example illustrates how easy it is to
overlook a small point that can have a major impact on the
effectiveness of instructions.

21. A field test is .
A. to test someone who is unfamiliar with the process
B. to see how your instructions are followed
C. to know the accuracy of instructions
D. to tell someone how to follow an instruction
22. What will the instructor probably do when a reader hes-
itates or asks him a question?
A. He will answer the question during the field test.
B. He will answer the question afterwards.
C. He will keep a record of all the places of the ques-
tion.
D. He will correct some inaccurate places in the instrc-
tion.

23. The information on how to undo a spelling mistake
7



24.

25.

means
A. how to avoid a spelling mistake
B. how to rectify a spelling mistake
C. how to detect a spelling mistake
D. how to communicate a spelling mistake

If the instructor overlooks a small point,

A. it will cause a strong effect on the effectiveness of
instructions

B. it will disturb the reader

C. the reader may make a major mistake

D. the reader may doubt the effectiveness of instruc-
tions

What is the main idea of the passage?

A. How to make an instruction.

B. How to read an instruction.

C. To explain the term “field test”.

D. To tell the importance of “field test”.

Passage Two

Electricity is a clean and versatile form of energy that

will continue to grow in importance for lighting, heating and

cooling, and for powering our increasingly automated and

computerised society. Although overall energy use in the U-
nited States has leveled off, demand for electricity is expect-

8



ed to grow at an average annual rate of 2. 5% over the long
term. Because energy policy planners generally agree that a
mix of energy sources is required as a hedge against short-
ages in any one area, electric utilities around the United
States are taking a second look at renewable generating
technologies, particularly those based on the Sun.

Every 15 minutes, the Sun delivers to the earth enough
radiant energy to meet all of mankind’s power needs for a
full year. But harnessing this energy is complicated by two
properties of sunlight: its diffuseness and its variability with
time of day, season and weather conditions. These factors
pose formidable technical challenges for the efficient conver-
sion of solar radiation into bulk, utility grade electric pow-
er. Nevertheless, solar technologies are attractive to utili-
ties because they are environmentally benign and offer a low
regulatory risk, limited capital risk. Since solar power sys-
tems typically consist of arrays of discrete generating mod-
ules, utilities can increase capacity in small increments with
limited financial commitment, instead of investing several
years and large amounts of capital to build a major fossil-fu-
el or nuclear plant.

The world leader in the use of solar power is the state
of California, which expects to obtain most of its additional
generating capacity in the late 1980s and the 1900s from a
variety of renewable sources; all coal and nuclear-power
plants projected for that period have been canceled. Califor-

9



nia’s leadership in solar power is due to its wealth of renew-

able resources, such as sunshine,water,and wind, a favor-

able regulatory and political environment, and a combina-
tion of federal and state policies that give nonutility third

parties a strong financial incentive to invest in renewable-en-

ergy systems that electricity for sale to local utilities.

26.

27.

28.

Which of the following doesn’t need electricity accord-

ing to the passage?

A. School lighting.

B. Cinema cooling.

C. Computer handling.

D. House cleaning.

A mix of energy sources is required because .

A. it won’t cause much air pollution

B. it will be less expensive

C. it will solve the shortages of resources

D" it will solve the problem of increasing demand for
energy

Why, according to the author, are solar technologies at-

tractive to utilities?

A. Because they like to meet these formidable technical
challenges.

B. Because there is no risk in the investment of re-
search.

C. Because'it is not difficult for them to utilize solar en-

10



29.

30.

ergy.

D. Because it is economically and environmentally
clean.

What special qualities does the sunlight have?

A. Tt offers our yearly needs of energy every 15 min-
utes.

B. It shines only when there is no cloud in the sky.

C. It can be changed by the time, season and weather
conditions.

D. It is changeable with the changes of time, season
and weather conditionll F#5=-~™

What is the best title for ﬂs arrr;;le‘?

A. Solar Power Goes On

B. Solar Power ReplacesiNuejs

C. California,The World*lxg&’ fn Usmg ‘Solar Ppwer.

D. High Technology Go& Iffo You Life

Passage Three

In the United States men and women socialize relatively

freely and develop a variety of relationships. Single people

of opposite sexes may be close friends and share personal

problems with each other without being romantically in-

volved. There are no fixed rules for romantic or intimate re-

lationships but there are restraints. Men and women inter-

11



act in varying degrees of intensity. Dating may be serious or
casual. A couple may terminate a relationship after three
dates or may date steadily and exclusively for a long period
of time. They may date with or without the intention of get-
ting married. Alternatively, people may choose to have mul-
tiple dating partners so as not to become too seriously in-
volved with one person. The commitment and obligation of
people who are dating depend principally on the couple’s at-
titude.

Married men and women sometimes consider each other
best friends as well as spouses. They also socialize with
members of the opposite sex either as couples or indepen-
dently. A working wife may have a close male friend at her
job. This does not mean that there are no constraints on the
married men or women. The limitations of these relation-
ships are not always visible but they do exist. Most, but not
all, married American couples practice monogamous (— %

—FEH4Y) relationships.

31. “In the United States men and women socialize relative-
1y freely. ” This means ___.
A. everyone can become a socialist
B. people are free to join some social groups
C. people can develop male-female relationships more
freely in the USA
D. people can freely express opinions about society
12



